تصحيح مقترح لموضوع اللغة الانجليزية بكالوريا 2012
الشعب: علوم تجريبية – رياضيات – تقني رياضي – تسيير و اقتصاد


Correction of the 1st subject

A/ Comprehension
1- The text is a : b. speech 

2- 
    A. T
    B.  F 
    C.  T
    D. T
 3- 
a. The three aspects are: being social , environmental and financial
b. Yes , because he find that is necessary to translate the concept into the reality
c. It is easier to highlight successes than failures for improvement and to present the company in the best possible light

4- A. §2
B. §3

5-   
a. It  the concept of triple bottom line
b. Its  private company


B/ Test Exploration 
1-   
a. Idea = concept                   c. client = customer
b. Enough = sufficient 
2-    
	Verb
	Noun
	Adjective

	To perform
	Performance
	Performed

	To finance
	Finance
	Financial

	To measure
	Measurement
	Measurable

	To translate
	Translation
	Translated / translatable



3-  
A.      It is hard for some companies to reaveal their financial situation because they are unethical
    Some companies are unethical . therefore , it is hard for them to reveal their financial situation
B.       A company will act responsibly in order to gain the confidence of its stakeholders
     Provided that it acts responsibly , the company will gain confidence of its stakeholders

4-  
	/S/
	/Z/
	/IZ/

	Profits
groups
	Legs
failures
	Recognises
Judges



5-  
The order:
C – b – d - a










Correction of the 2nd subject

A/ Comprehension
1- The text is a : b. descriptive 

2-
    A. Quasars are : « c. the most distant object  from our galaxy. »
    B.  A quasar  « a. attracts »  a disk-like structure of gas. 
    C. Quasars are « c. 10 – 15 billion light years away. »   
 3- 
d. The quasars appears to us as faint red stars. because they are so far away.
e. The massive collision of matter causes a gigantic explosive output of radiation energy and light 
f. The distance in the outer space measured with the light years.

4- The general idea of the text : c. General descripton of quasars 

5-   
c. They  Quasars
d. These objects  The gas and the other stars and small galaxies 
e. We  astronomers / humans

B/ Test Exploration 
1-  
c. Close =/= Distant + far                   c. tiny =/= gigantic  + massive
d. Weak =/= Strong                            d. released =/= absorbed 
2-   
	prefix
	Root
	suffix

	dis
	appear
	ance

	/
	extreme
	ly

	/
	radiate
	ion

	Un
	Identify
	ed



3- 
1. We believe that a quasar is a super massive black hole 
2. No other object is further (or farther) than quasar

4- 
	One Syllable
	Two Syllable
	Three Syllables

	Sucked
	Structure - billion
	Gravity



5- 
A: I think that quasars are the closest stars from our galaxy 
B: No, quasars are the furthest stars from our galaxy 
A: How far are they? 
B: They are 10-15 billion light years away 
A: How they are visible to us?
B: They are visible to us as faint red stars 
[bookmark: _GoBack](There are many possible answers) 





with my best wishes to success for all of us
